Efficiency vs P,

~0.05¢ . :
= E : : :

D.045f oo Rt e
8 0.04F -4 S AR
s F K : :

N e e
0] F H N N

0.03F -+ ﬁs ------------ RRRR. s
0.025F -+ oprieeeveeens oo e
002 gt C T
0.0LBF--++ereeseiesseennincs o e
001t S S

T S S e e
Qe i il o

L . ; ;
0 =
:l*“s | |

00 L0 i Gl

Ratio
.

—=— DQMstep3 TT_CKF
—e— DQMstep3_TT_default
—+— DQMstep3_TT_defaultNEWTepol10

= 0.1 T
9 E : : : : :
2009 oy oy T
g E : : : : :
g 0.08F -~ oy oy T
o F : : : : :
£0.07 - R R R
o E : : : : :

O e R A S
o '+
% IR N S N |

003+ b ; B 1*
002Fy oyt L g
0. 01;—'4"'?3"- {ﬁ} #}ﬂ’fﬁ#@f@ U}**

Ratio
o O
T T I L) : 'I T

05H-{g- -l k-

Efficiency vs ¢

-0.05¢ T
2 E : : : : ; :
o
2 E: : : : : : :
O A
(5] E . . . . . .
e AUt S SRR A
3 = : : : : :

003
;+++f++ """ Tty + """" +@
°-szi it +%+¢+*+++++¢+¢

qﬂ.:.'_.'.i_'.:.'_.'_:_.:.:.'_:_l_'.:.'_:_!.'. ....... !_'.:.'_.'_!

Ratio

Rty

> S




	Contents
	Page 1


